X1




3. (10 pts) Wte | fntiom create_IDs(names, locknums) t
ontentin
sme len names iill ontin t str font, n ex——HERKkiss il
ontin t intfont. T
fies in stin

knple

students = [’Alice’, ’Bob’, Carol’]
lockers = [25, 431, 8]
create_ID(students, lockers)

etns

[’Alice25”, “Bob431”, ’Carol87].

Solwion:

def create_ID(names, locknums):
return [name + str(locker) for name, locker in zip(names, locknums)]

def create_ID(names, locknums):
ids = []

for 1 in range(len(names)):
ids.append(names[i] + str(locknums[i]))

return ids

4. (10 pts) e fntion nums._



